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QUESTION 1

What are two valid methods to deploy an OVF template which consists of two or more VMs? (Choose two.) 

A. deploy on the standalone host connected to vCenter Server 

B. deploy on a vSphere DRS enabled cluster 

C. deploy on a vSphere HA enabled cluster 

D. deploy on the VMware vSphere Hypervisor 

Correct Answer: BD 

 

QUESTION 2

What is the optimal configuration when building a virtual machine for a single-threaded Windows application? 

A. Deploy single-threaded applications on uniprocessor virtual machines. 

B. Deploy single-threaded applications on symmetric multi-processor virtual machines. 

C. Tune single-threaded applications to take advantage of symmetric multi-processor resources. 

D. Tune Single-threaded applications at the hypervisor level. 

Correct Answer: A 

 

QUESTION 3

A vSphere Administrator currently has three two-socket servers that meet the requirements for VMware vSAN. Curently
there is VMware Essentials Plus licensing for all servers. Implement a solution based on VMware vSAN? 

A. Upgrade to VMware vSphere Standard 

B. Upgrade to VMware vSphere Enterprise Plus 

C. None is required. VMware vSAN is built into the Kernel. 

D. Upgrade to VMware vSAN Standard. 

Correct Answer: C 

 

QUESTION 4

An administrator logs into the vSphere Web Client, but is unable to see any hosts and clusters. Which two options could
fix the problem? (Choose two.) 

A. Verify that the client web browser and vCenter Server are in the same broadcast domain. 
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B. Verify that the vCenter Server system is registered with the same Platform Services Controller as the vSphere Web
Client. 

C. Log in to the vCenter Server as a user within the Active Directory domain. 

D. Log in to the vSphere Web Client as a user with permissions on the vCenter Server system. 

Correct Answer: BD 

 

QUESTION 5

What three types of widgets can be added to a vRealize Log Insight Custom Dashboard? (Choose three.) 

A. badge widget 

B. event trends widget 

C. query list widget 

D. heatmap widget 

E. chart widget 

Correct Answer: BCE 

https://docs.vmware.com/en/vRealize-Log-Insight/4.3/com.vmware.log-
insight.user.doc/GUIDACF41E9A4DC4-4071-AE45-FA296525D64C.html 
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